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1. Along the IS curve, desired investment equals desired national saving.
Which of the following does not shift the IS curve upward?

A. An increase in government purchase

B. An increase in expected future output

C. An increase in wealth

D. An increase in effective tax rate on capital
E. None of the above

2. Japan's population increased by 3 percent in 2010. As a result, which of the
following occurred?

I.  Anincrease in potential GDP
[I. A nghtward shift in the long-run aggregate supply curve

[II. A rightward shift in the short-run aggregate supply curve.

A. 1, II and IlI.

B. III only.

C. Iand Il only.

D. I and IIl.

E. None of the above
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Price and costs {dollars per unit)

Quantity {units per day)

3. The deadweight loss incurred when the market in the above figure is a
single-price monopoly rather than perfectly competitive is the area

A. cab
B. fcd
C. fae
D. ebd

E. none of the above

4. Which of the following is not likely to be the statement made by a
Keynesian economist?

A. Active government policy is needed to get the economy to full
employment.

B. Aggregate demand shocks are the primary source of business cycle
tluctuation.

C.  Wages and prices are “rigid” and do not adjust quickly to market
—clearing levels.

D. Money is not neutral in the long run.

>. The difference between nominal GDP and real GDP is that real GDP
eliminates the effects from

A. depreciation
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B. 1nflation
C. the unemployment rate

D. changes in productivity

- __ M&M
Regular Holiday
Candy Candy

Regular [|M&M: $1250 M&M: $1400
$1250{ Dove: $650

Candy FDove:

Holiday [M&M: $650M&M: $1000

s ]

Candy  [Dove: $1400Dove: $1000

6.  Mé&M and Dove are both considering issuing themed holiday candy. The
profits for each strategy, Regular Candy or Holiday Candy, are summarized
In the payoff matrix above. The Nash Equilibrium in this game is that Dove
produces and M&M produces

A. Holiday Candy; Regular Candy

B. Holiday Candy; Holiday Candy

C. Regular Candy; Holiday Candy

D. Regular Candy; Regular Candy

E.  There 1s no pure-strategy Nash Equilibrium.
/. According to the quantity theory of money,

A. the only way the central bank can change the quantity of money
without affecting the velocity of circulation is by using open market
operations.

B. achange in the discount rate changes real GDP

C. adecrease in the quantity of money will decrease the velocity of
circulation.

D. adecrease in the quantity of money will decrease the price level.

8. It Ann’s utility derived from her wealth, W, is given by U = WO'S, and she
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Invests 1n a business which can yield $6,400 with probability 1/5 and $3,600
with probability 4/5, then her risk premium to avoid bearing this risk is

A.  $1,280
B. $2,880
C. $4,160
D. $5,840

= > LEEE (304 BAO4)

1. % %):E48 (adverse selection )

8% B /71 18 (purchasing power parity )

3t #178 ¢h 4 (Phillips curve )

#8342 48 7 (economies of scale )

# 35 %k F (market failure )
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o~ FA T 3% ¥ 55 (open market operation )
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. Consider an industry where firms create pollution while producing. In the
other word, these firms impose (external) pollution costs to the society
which are not borne by these firms. Assume that both marginal product cost
and marginal pollution cost are increasing in output:

A. Use a graph to demonstrate the equilibrium quantity and price under
pollution. Also show the corresponding consumer surplus, producer
surplus and deadweight loss on this graph.

B. What can be done to fix the inefficiency that arises from the external
cost?

2. Consumer price index (CPI) has been often used to measure the price levels
thus living costs in an economy. However, it 1s well known that there is a

bias in CPI.

A. Does CPl over-estimate or under-estimate the true living costs? List at
least two sources of bias 1n the CPI.
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B. Name one of other measures for the price level in and explain the
difference between it and CPI.

3. Use graphs to explain why the long-run market supply curve in a
competitive market is horizontal. Is it possible that the long-run market
supply curve in a market is upward sloping? If yes, provide at least two
causes.



